Apartment in Kirkop



Kirkop, South



€310,000

Total Rooms: 7

Bathrooms: 2

Floor Area (m²): **92**

Reference No: 240041083-5

P☐ Bedrooms: 2

Apartment - For Sale - Kirkop

Kirkop - New to market, construction work to commence in January 2026. This two-bedroom Apartment is to be sold highly finished, including bathrooms and doors. Consists of an open plan kitchen/living/dining leading to a front balcony, a main bathroom, a main double bedroom with an en-suite and a small balcony, and a second bedroom with a private balcony. Completion date March 2028.

Features

En Suite

Balcony

Rooms

✓ Living/Dining : 4.5 x 6 m (27 m2)

Kitchen: 2.5 x 3.5 m (8.75 m2)

Double Bedroom : 3.2 x 3.2 m (10.24 m2)

✓ Walk In Wardrobe : 0.8 x 1.5 m (1.2 m2)

✓ Bathroom Ensuite : 0.9 x 1.2 m (1.08 m2)

Open Space : 0.8 x 1 m (0.8 m2)

Bathroom: 0.9 x 1.2 m (1.08 m2)

Double Bedroom: 3.2 x 3.5 m (11.2 m2)

Open Space : 3.2 x 1.2 m (3.84 m2)

Open Space : 2.5 x 1.2 m (3 m2)

Gallery











Stephan Sacco

RE/MAX Park Estates - St Paul's Bay

M: 99161238

E: stephan@remax.com.mt

T: 21579747

RE/MAX Park Estates - St Paul's Bay

Park Estates Ltd, Mosta Road, St Paul's Bay, Malta